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QUESTION 1

You have a security requirement within your organization to separate your resources. There is a team that supports
each resource and theyare not allowed access to the other resources. 

Which security control with Oracle Cloud Infrastructure meets this requirement? 

A. Tagging 

B. Compartments and Policies 

C. Key Management 

D. Federation 

Correct Answer: B 

 

QUESTION 2

What can you use to quickly load data into a cloud database by dragging and dropping a file in a web browser? 

A. Remote cloning a pluggable database (PDB) 

B. RMAN Transportable Tablespace 

C. Data Pump Transportable Tablespaces 

D. DataLoad tab of the SQL worksheet in Database Actions 

Correct Answer: D 

 

QUESTION 3

Which statements aretrue for OCI GoldenGate Service? (Choose two.) 

A. It requires any source environment to run Oracle GoldenGate Microservices. 

B. It is customer-managed. 

C. It requires an on-premises license for the Oracle GoldenGate software. 

D. It supports the usage of Universal Credits. 

Correct Answer: AD 

 

QUESTION 4

Which TWO statements are true about online pluggable database (PDB) relocation? (Choose all correct answers) 
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A. Database version downgrade can be achieved with PDB relocation. 

B. A PDB with the ASCII character set can be relocated to a container database (CDB) with the AL32UTF8 character
set. 

C. PDB relocation with no version change can be performed with near-zero downtime. 

D. Online PDB relocation can achieve a zero downtime upgrade. 

Correct Answer: CD 

 

QUESTION 5

You have executed the mappings with Change Data Capture ( CDC ) on the source data store and you are now going
through the code in the operator log for debugging. Which two tables or view do you need to inspect in the database to
see whether the CDC process is writing changed data or not in Oracle Data Integration ( ODI )? (Choose all correct
answers) 

A. JV$D view 

B. J$ table 

C. JV$ view 

D. JW$ view 

Correct Answer: AC 

 

QUESTION 6

You are using Data Pump to migrate your database to Autonomous Database (ADB). To which tablespace must you
remap your source database tablespaces? 

A. USERS 

B. UNDO 

C. SYSTEM 

D. DATA 

Correct Answer: D 

 

QUESTION 7

Which statement is true? 

A. One PDB consists of only one CDB. 

B. One CDB canhave only one PDB. 
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C. One PDB consists of multiple CDBs. 

D. One CDB can have one or more PDBs. 

Correct Answer: D 

 

QUESTION 8

Which of these can be used to unload and load data via DataPump? (Choose two.) 

A. Dumpfile 

B. Streamfile 

C. Network mode (with database links) 

D. Backupset 

Correct Answer: AC 

 

QUESTION 9

Which tools can be used to perform Oracle Zero Downtime logical migration? (Choose two.) 

A. Oracle GoldenGate 

B. RMAN 

C. Data Guard 

D. Data Pump 

Correct Answer: AD 

 

QUESTION 10

In Zero Downtime Migration, which port number is used by the source and target system to access Object Storage? 

A. 443 

B. 1521 

C. 22 

D. 118 

Correct Answer: A 

 

QUESTION 11
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Which four Oracle Database CloudServices are supported as a target database using Oracle Zero Downtime
Migration? 

(Choose all correct answers) 

A. Oracle Database Cloud Service 

B. oracle NOSQL Database Cloud Service 

C. Autonomous Database 

D. Oracle MySQL Database Cloud Service 

E. ExadataCloud at Customer 

F. Exadata Cloud Service 

Correct Answer: ACEF 

 

QUESTION 12

If unplug and plug was decided to be used as the tool for the migration to Oracle Cloud Infrastructure(OCD), which two
constraints are part of this migration to process for using unplug and plug? (Choose all correct answers) 

A. Target must be an Autonomous database. 

B. Target and source have same Endianness. 

C. Source must be Little-endian. 

D. Source andtarget need to be container database (CDB). 

Correct Answer: BD 

 

QUESTION 13

In which mode must the auxiliary instance be started while using the RMAN DUPLICATE command for database
migration? 

A. NOMOUNT 

B. OPEN 

C. FORCE 

D. MOUNT 

Correct Answer: A 

 

QUESTION 14
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Which three Oracle technologies are leveraged by Oracle Zero Downtime Migration Physical Online Workflow? (Choose
all correct answers) 

A. Oracle DataGuard 

B. Recovery Manager 

C. SQL*Net 

D. Oracle Real Application Testing 

E. Streams 

Correct Answer: ABC 

 

QUESTION 15

Which four Oracledatabase version are supported for source databases when migrating with Oracle Zero Downtime
Migration? (Choose all correct answers) 

A. Oracle Database 11g Release 2 ( 11.2.0.3 ) 

B. Oracle Database 10 g Release 2 

C. Oracle Database 12c Release 2 ( 12.2.0.1) 

D. Oracle Database 11g Release 2 ( 11.2.0.4 ) 

E. Oracle Database 19 

F. Oracle Database 12c Release 1 ( 12.1.0.2) 

Correct Answer: ADEF 
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